
Kit Number KBT40 - Use with ID150 and EH222

Kit Number KBT41 - Use with ID200 or ID250 and EH222

Includes

Lid Assembly 1

Cover 1
Ice Baffle 1
Screw, # 8 4
Screw, # 8-32 2
Label 2
Gasket 8 ft.
Shoulder Screw, # 10-32 2
Washer, # 10 2
Nyloc Nut, # 10-32 2

1. Unpack kit. Refer to above list for component detail.

2. Remove the front (2) screws securing the cabinet to the hopper. Set the lid assembly
onto the dispenser. Using the slotted holes on the side of the lid as a template, drill (4)
.141 diameter holes at the bottom of the slots (Fig. 1, detail W).

Note: Use extreme care not to drill into the hopper. Use a drill stop to ensure that

the drill bit does not penetrate deeper than 1/4 in. past the sheetmetal. Failure to

do so could result in a hole in the ice storage hopper, greatly reducing the

efficiency of both the dispenser and ice maker.

3. Fasten the lid to the dispenser with (4) #8 sheetmetal screws (item 4), two on each
side, and the existing (2) front screws removed in step 2. Refer to Fig. 1, details V and
W.

4. Insert the ice baffle (item 3) into the lid assembly (item 1), Fig. 2A & 2B. The tabs of
the ice baffle should slide into the slots on the lid assembly.

5. Seal the icemaker to the top of the dispenser as follows:

A. Place gasket tape on top of adapter where ice making head will be. For location of
the gasket on the adapter lid, refer to Figure 1A for ID150 or Figure 1B for ID200 and
ID250.

620201207

Instructions












